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�6(�� SDGD� 3URJUDP� 6WXGL� 6WUDWD� �� $NXQWDQVL�� 6HNRODK� 7LQJJL� ,OPX� (NRQRPL�

,QGRQHVLD� �67(,�� -DNDUWD�� VHMDXK� \DQJ� VD\D� NHWDKXL� EXNDQ� PHUXSDNDQ� WLUXDQ��

GXSOLNDVL� DWDXSXQ� SODJLDW� GDUL� NDU\D� LOPLDK� \DQJ� VXGDK� GLSXEOLNDVLNDQ� GDQ� DWDX�

SHUQDK�GLSDNDL�XQWXN�PHQGDSDWNDQ�JHODU�NHVDUMDQDDQ�GL� OLQJNXQJDQ�67(,�GDQ�GL�

3HUJXUXDQ�7LQJJL�ODLQQ\D��NHFXDOL�EDJLDQ�\DQJ�VXPEHU�LQIRUPDVLQ\D�GLFDQWXPNDQ�

VHEDJDLPDQD� PHVWLQ\D�� -LND� GLNHPXGLDQ� KDUL� GDSDW� GLEXNWLNDQ EDKZD� WHUGDSDW�

XQVXU� WLUXDQ�� GXSOLNDVL� DWDXSXQ� SODJLDW�� PDND� VD\D� EHUVHGLD� PHQHULPD� VDQNVL�

VHVXDL�SHUDWXUDQ�SHUXQGDQJ�XQGDQJDQ�\DQJ�EHUODNX�
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3XML� V\XNXU� SHQXOLV� SDQMDWNDQ� DWDV� NHKDGLUDW�$OODK� 6:7�� NDUHQD� DWDV� GDQ�

UDKPDW�1\D�� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ� VNULSVL� LQL�� 3HQXOLVDQ� VNULSVL� LQL�

GLODNXNDQ�GDODP�UDQJND�PHPHQXKL�VDODK�VDWX�V\DUDW�XQWXN�PHQFDSDL�JHODU�VDUMDQD�

$NXQWDQVL��GL�6HNRODK�7LQJJL�,OPX�(NRQRPL�,QGRQHVLD��67(,���

6NULSVL�LQL�GDSDW�GLVHOHVDLNDQ�EHUNDW�EDQWXDQ��ELPELQJDQ��GDQ�GRURQJDQ�GDUL�

EHUEDJDL�SLKDN��VHKLQJJD�VHPXD�NHQGDOD�\DQJ�GLKDGDSL�GDSDW�GLDWDVL�GHQJDQ�EDLN��

2OHK�NDUHQD�LWX��SHQXOLV�PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD��

�� $OODK�6:7�\DQJ�WHODK�PHPEHULNDQ�QLNPDW�WDN�WHUKLWXQJ�NHSDGD�SHQXOLV�

GDQ�KDQ\D�DWDV�NHNXDVDQ�1\D�VNULSVL�LQL�GDSDW�WHUVHOHVDLNDQ�

�� 5LQL� 5DWQDQLQJVLK�� 6(�� 0�$N�� VHODNX� GRVHQ� SHPELPELQJ� \DQJ� WHODK�

PHQ\HGLDNDQ� ZDNWX�� WHQDJD�� GDQ� SLNLUDQQ\D� XQWXN� PHPEHULNDQ�

ZDZDVDQ�LOPX�SHQJHWDKXDQ�NHSDGD�SHQXOLV�GDODP�SHQ\XVXQDQ�VNULSVL�

�� ,EX�'U��1XUVDQLWD��6(��$N��0(��&65$�GDQ�%DSDN�'UV��:LQGUDWQR��00��

$N� VHODNX� SHQJXML� VLGDQJ� VNULSVL� \DQJ� WHODK� PHOXDQJNDQ� ZDNWXQ\D�

PHQJXML�VNULSVL�VD\D�

�� 0DPD� GDQ� $\DK� WHUVD\DQJ�� \DQJ� WHODK� PHPEHULNDQ� VHJDOD� PRWLYDVL��

GRD�� GDQ� SHQJRUEDQDQ� \DQJ� WLDGD� KHQWL� GDODP� EHQWXN� PRUDO� PDXSXQ�

PDWHULO�XQWXN�PHQ\HOHVDLNDQ�VNULSVL�LQL��

�� $GLN� GDQ�7DQWH� WHUFLQWD� \DLWX�1DELOD� GDQ�$\L� DWDV� GRD� VHUWD� VHPDQJDW�

VHODPD�LQL�VHKLQJJD�SHQXOLV�ELVD�PHQ\HOHVDLNDQ�VNULSVL�

�� .HOXDUJD� EHVDU� 6DUL\R� GDQ� 6XGLPLQ� \DQJ� WHODK� � PHPEDQWX� GDQ�

PHPEHULNDQ�GXNXQJDQ�NHSDGD�SHQXOLV�VHODPD�LQL�

�� 7HPDQ�WHPDQ� 67(,� DQJNDWDQ� ������ WHUXWDPD�0HLODQL� %HOOD� )UDQVLVND��

'LQGD� &HUHQLQD�� 'LQGD� 5LVNL� ,UGDQWL�� $QQLVD� 5RKPD�� GDQ� ,QWDQ�

3XVSLWDVDUL� \DQJ� VHODOX� PHQHPDQL� GDQ� PDX� PHQGHQJDU� NHOXK� NHVDK�

SHQXOLV� VHMDN� DZDO� GLVDDW� PDVLK� PHQMDGL� PDKDVLVZD� EDUX� KLQJJD�

VHNDUDQJ�

�� 7HPDQ�WHPDQ�\DQJ�DGD�GL�UDVDPDOD��WHUXWDPD�$OIL��)LQD��/DUDV�GDQ�6HOOD�

WHULPD�NDVLK�DWDV�GXNXQJDQQ\D�
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�� 7HUXQWXN� $OH� \DQJ� VXGDK� UHSRUW�UHSRUW� PHPEDZDNDQ� EURZQLV�� WHULPD�

NDVLK�EDQ\DN�VXGDK�PHPEHULNDQ�VHPDQJDW�NHWLND�VHPSDW�VWXFN�NHPDULQ�

��� 7HUXQWXN�6WUD\�.LGV�\DQJ�WHODK�PHQHPDQL�SHQXOLV�GHQJDQ�ODJXQ\D�\DQJ�

VDQJDW�PHPRWLYDVL�VHODPD PHQ\HOHVDLNDQ�VNULSVL�LQL�

��� .DN�1LVD��WHULPD�NDVLK�WHODK�PHPEDQWX�PHQJRODK�GDWD�GDQ�WHULPD�NDVLK�

VXGDK�PDX�GLWDQ\D�WDQ\DNDQ�PHQJHQDL�VWDWLVWLND

��� 3LKDN�SLKDN�\DQJ�WHODK�EDQ\DN�PHPEDQWX�GDODP�PHQ\HOHVDLNDQ�VNULSVL�

LQL�\DQJ�WLGDN�ELVD�GLVHEXWNDQ�VDWX�SHU�VDWX�

$NKLU�NDWD��VHPRJD�$OODK�6:7�EHUNHQDQ�PHPEDODV�VHJDOD�NHEDLNDQ�VHPXD�

SLKDN�\DQJ� WHODK�GLVHEXWNDQ�GLDWDV��6HPRJD� VNULSVL� LQL�GDSDW�PHPEDZD�PDQIDDW�

XQWXN�SHUNHPEDQJDQ�LOPX�SHQJHWDKXDQ��
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PHQJDKOLPHGLD�IRUPDWNDQ�� PHQJHOROD� GDODP� EHQWXN� SDQJNDODQ� GDWD� �GDWDEDVH���

PHUDZDW�� GDQ�PHPSXEOLNDVLNDQ� VNULSVL� VD\D� VHODPD� WHWDS�PHQFDQWXPNDQ� QDPD�

VD\D�VHEDJDL�SHQXOLV�GDQ�VHEDJDL�SHPLOLN +DN�&LSWD��

'HPLNLDQ�SHUQ\DWDDQ�LQL�VD\D�EXDW�GHQJDQ�VHEHQDUQ\D��
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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJXML� DSDNDK� SHQJDUXK� 7RWDO� $VHW�

3HUXVDKDDQ�� 2SLQL� $XGLW�� GDQ� /HYHUDJH� WHUKDGDS� $XGLW� 5HSRUW� /DJ� SDGD�

SHUXVDKDDQ�VXE�VHNWRU�KRWHO��UHVWRUDQ��GDQ�SDULZLVDWD�\DQJ�WHUGDIWDU�GL�%XUVD�(IHN�

,QGRQHVLD��%(,���

3HQHOLWLDQ�LQL�PHQJJXQDNDQ�MHQLV�SHQHOLWLDQ�NXDQWLWDWLI�\DQJ�GLXNXU�GHQJDQ�

PHWRGH�UHJUHVL�OLQLHU�EHUJDQGD�GHQJDQ�PHQJJXQDNDQ�DSOLNDVL�(YLHZV�����6DPSHO�

SHQHOLWLDQ�LQL�GLWHQWXNDQ�EHUGDVDUNDQ�PHWRGH�SXUSRVLYH�VDPSOLQJ�GHQJDQ� MXPODK�

VDPSHO�VHEDQ\DN����SHUXVDKDDQ�VHNWRU�+RWHO��5HVWRUDQ��GDQ�3DULZLVDWD�VHKLQJJD�

WRWDO� REVHUYDVL� SHQHOLWLDQ� LQL� VHEDQ\DN� ��� VDPSHO�� 7HNQLN� SHQJXPSXODQ� GDWD�

GLJXQDNDQ� PHQJJXQDNDQ� PHWRGH� GRNXPHQWDVL� PHODOXL� VLWXV� UHVPL� ,QGRQHVLDQ�

6WRFN�([FKDQJH �,';���ZZZ�LG[�FR�LG�3HQJXMLDQ�KLSRWHVLV�PHQJJXQDNDQ�XML�7�

+DVLO� SHQHOLWLDQ� \DQJ� WHODK� GLODNXNDQ� PHPEXNWLNDQ� EDKZD� 7RWDO� $VHW�

3HUXVDKDDQ�WLGDN�EHUSHQJDUXK�WHUKDGDS�$XGLW�5HSRUW�/DJ�SDGD�SHUXVDKDDQ�VHNWRU�

+RWHO�� 5HVWRUDQ�� GDQ� 3DULZLVDWD� \DQJ� WHUGDIWDU� GL� %XUVD� (IHN� ,QGRQHVLD� SHULRGH�

����������� 6HGDQJNDQ� 2SLQL� $XGLW� GDQ� /HYHUDJH� EHUSHQJDUXK� WHUKDGDS� $XGLW�

5HSRUW�/DJ�SDGD�SHUXVDKDDQ�VHNWRU�+RWHO��5HVWRUDQ��GDQ�3DULZLVDWD�\DQJ�WHUGDIWDU�

GL�%XUVD�(IHN�,QGRQHVLD�SHULRGH�����������

.DWD� .XQFL� �� $XGLW� 5HSRUW� /DJ��7RWDO� $VHW� 3HUXVDKDDQ�� 2SLQL� $XGLW�� GDQ�

/HYHUDJH�
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7KLV� VWXG\� DLPV� WR� WHVW� ZKHWKHU� WKH� HIIHFW� RI� 7RWDO� $VVHWV� &RPSDQLHV��

2SLQLRQ� $XGLW�� DQG� /HYHUDJH� RQ� $XGLW� 5HSRUW� /DJ� RQ� VXE�VHFWRU� FRPSDQLHV� LQ�

KRWHOV�� UHVWDXUDQWV�� DQG� WUDYHOHUV� WKDW� OLVWHG� LQ� WKH� ,QGRQHVLDQ� 6WRFN� ([FKDQJH�

�,';��IURP������WR�������

7KLV� VWXG\� XVHV� D� TXDQWLWDWLYH� W\SH� RI� UHVHDUFK� ZKLFK� LV� PHDVXUHG� E\�

PXOWLSOH� OLQHDU� UHJUHVVLRQ� XVLQJ� WKH� (YLHZV� ��� DSSOLFDWLRQ�� 7KH� VDPSOH� RI� WKLV�

VWXG\� ZDV� GHWHUPLQHG� EDVHG� RQ� WKH� SXUSRVLYH� VDPSOLQJ� PHWKRG� ZLWK� D� WRWDO�

VDPSOH�RI����FRPSDQLHV�LQ�WKH�+RWHO��5HVWDXUDQW��DQG�7RXULVP�VHFWRU�VR�WKDW�WKH�

WRWDO� REVHUYDWLRQV� RI� WKLV� VWXG\�ZHUH� ��� VDPSOHV�� 7KH� GDWD� FROOHFWLRQ� WHFKQLTXH�

XVHG� LV� WKH� GRFXPHQWDWLRQ�PHWKRG� WKURXJK� WKH� RIILFLDO�ZHEVLWH� RI� WKH� ,QGRQHVLD�

6WRFN�([FKDQJH��,';���ZZZ�LG[�FR�LG��+\SRWKHVLV�WHVWLQJ�XVLQJ�7�WHVW�

7KH�UHVXOWV�RI�WKH�UHVHDUFK�WKDW�KDYH�EHHQ�FDUULHG�RXW�SURYH�WKDW�WKH�7RWDO�

$VVHWV� RI� WKH� &RPSDQ\� KDYH� QR� HIIHFW� RQ� WKH� $XGLW� 5HSRUW� /DJ� LQ� WKH� +RWHO��

5HVWDXUDQW�� DQG� 7RXULVP� VHFWRU� FRPSDQLHV� OLVWHG� RQ� WKH� ,QGRQHVLD� 6WRFN�

([FKDQJH� IRU� WKH� ���������� SHULRG�� 0HDQZKLOH�� $XGLW� 2SLQLRQ� DQG� /HYHUDJH�

KDYH� DQ� HIIHFW� RQ� $XGLW� 5HSRUW� /DJ� LQ� KRWHO�� UHVWDXUDQW� DQG� WRXULVP� VHFWRU�

FRPSDQLHV�OLVWHG�RQ�WKH�,QGRQHVLD�6WRFN�([FKDQJH�IRU�WKH�����������SHULRG�

.H\ZRUGV��$XGLW�5HSRUW�/DJ�� 7RWDO�$VVHWV��$XGLW�2SLQLRQ��DQG�/HYHUDJH�
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